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Inclination of the line=150°
Slope of the line=tan 150°=-
Equation of the line:
y-0=—(x-(3))

V3y+x+3=0

1
V3

Given line is x-V3y=8-----------mm-mmmem (i)

Dividing (i) by /12 + (—V3)%=2

V3 .
T A (ii)

Comparing (ii) with x cosa+ysina=p
Cosa=% and sinoc=—73 and p=4

Angle=300° and perpendicular distance from the origin=4
units

N RN =N RN =

Given line is 3x+4y+k=0

3x(—4)+4x2+k -3
Vo9+16 -

k=19 or -11

=

Slope of line (i)=m1=%

Slope of line (ii)=m2:—\/3
—J§+j—3
14+75x(—V3)

1

tan@= =7

@=30°
Angle between two lines is either 30°or 150°.

Equation of the line 4x-3y-5=0--------------- (i)
Let Q be the foot of the perpendicular drawn from P(1,-2) to line

(i)

Slope of (i)=§

Slope of PQ:_T3

Equation of PQ is,3x+4y+5=0-------------------- (i)
By solving (i) and (ii)

1 -7
X_E and y=7

Coordinates of the foot of the perpendicular is (é, _?7)




Equation is (3x+y-9)+k(4x+3y-7)=0
(3+k)x+(1+3k)y-(9+7k)=0
_—(3+4k)
Slope= (143k)
Slope of the given line 5x-4y+1=0 is%
—(3+4k) 5_
a3k 4
11

e

Required equation is 4x+5y-1=0

x Yy o ;
E+ 14—a 1 (1)

Line (i) passes through (3,4)
3, 4

-+ =1
a 14-a

az-13a+42=0

a=6 or7
When a=6,eqn is 4x+3y-24=0
When a=7,eqn is x+y-7=0




